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3. READING THE SCALES.
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THIRD STEP Each of these secondary divisions is again subdivided into a third set of diwisions, giving us our third significant figure (See Fig. 3]
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4. SLIDE RULE OPERATIONS.
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Set the left index of C on the number LG5 of the D scale. Read the answer 396 dex of C is in regster with the first factor appearing on D, and then read the ans-
on the D scale under the number 24 on C scale If the multipler on C  scale 15 wer on the D scale under the multiplier on C scals.
off the D scale. the slider is to be pulled to the left in the ruler until the right in-
DIVISION. Division is the reverse of multiplication Use the C.D combination Set-
either the lsft or the right index on the C scale over one of the numbers on the D whichever index of C. left ar right. that appears on 'the D scale!
scale. Read the answer on the D scale under the ather number on C scale with
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Example : 5453 isee Fig 5 Fig. § (Read answer 1.8 on D scale under left index of C scale)
Set 3 on C over 54 on D scale and read 1.8 on D under left C index
~ SOQUARES AND SQUARE ROOTS. Use the AD comamabtion of scales. To- find Left” and read the square roat under the harlne on D scale. W the number has an
he sguare of a number, set the indicator hairine over the number to be squared on even number of figures before the the decimal point, set the hairline over the num-
the D scale. and read the square of the number on the A scale under the indicator ber on ‘A-Right” and read the answer under the hairline on the D scale. Determme
hairline. To find the square root ol a number graster than unity—if there are an odd the location of decimal point by mental approximation,
number aof figures before the decimal pomt. set the hairline over the number on  A-
CUBES AMD CUBE ROOTS. Use the D-K combination of scales, K scale is so refered 1o as ‘K-Left”, "K-Middle” and °K-Right” .
constructed that when the indicator hairline is set over a number on the D scale the To find the cube root of a number between 1 and 10, set the indicator hairline over
cube of the number w under the hairline on the K scale the number on ‘K-Left” and read the answer under the hairline on 0. of a number
To find the cube roots of a number, use the D-K combination in the reversa order between 10 and 100, set the hairne on ‘K-Middie™ and read the answer on D, of a
The K scale consists ol three identical parts placed end to end. the cembined length number between 100 and 1000, set it on 'K-Right” and read the answer on D.
of which is egual to the length of the D scale The three parts of this scale will be
PROPORTION. Use the C-D combination of scales. Problems of proporlion arise, af the known relationship on C scale. If the unknown 18 i the numerator, oppasite
for example, in the convention of yards to feet, dollar to pounds, gallons to cubic the remaining known quantity on the C scale, read the value of the unknown on the
feet, and so on.  They are wrilten for example, B D-and are usually as A is to B D scale. It the unknown is in the denominator, opposite fhe remaining known quan-
2s Cis to D tity on the D scale, read the value of the unknown on the C scale.
Opposite the numerator of the known relalionship on the D scale sel the denominator
FURTHER USE OF THE Cl SCALE. ‘Multiplication by using the D-CI combina- the third factor on the C scale and read thd product under the hairling on the D scale
tion' To multiply two numbers together using the D and C| scales. set the hairline As an example, let us calculate the volume of a wall 125 feet long 6 feet high and
on one of the factors on the D scale and bring the other factor on the Cl scale un- 034 feet thick. Solution : Set the harlne at 125 on D. bring 6 on Cl under the ha-
der the hairline. Read the product on the D scale under whenever index aof the Ci irline. move the indicator hairline to 34 on C. read the product 255 cubic fest in re-
scale 15 on the rule. Since either the left or right index of Cl will always be found Eister on D
wpon the scale this method of multiphication never requires the reversal of the slider To divide one number by another using the Cl scale, set the index of the Cl scale
wihch is frequently necessary when multiplying by using the C-D combination. To find over the number to be divided on the D scale, move the hairline to the divisor on
the product of three factors, set the hairline over one factor on the D scale and the C| scale and read the guotient on the D scale.
bring the other lactor on the Cl scale under hairline. Move the indicator hairline to
THE SINE SCALE.S. The scale is used with the A and B scales for finding will be between 001 and 0.L
the sines ol angles from 34" to 90" The sine of angles from 5%4° 1o 90" can be read To find the sine of an angle from 5°44°to 90°, set the hairline over the angle on the
directly on ‘A-Right”. The sines of angles from 34" to 5° 44" are read directly on “A- S scale, under the hairline read the answer on “A-Right”. The answer will be betw-
Left”. Since for all practical purposes, the sine and tangent are the same for ang- een 0.1 and 1.0
les less than 5°44°, the tangent of angles from 34" to 5°44° may also read on ‘Ale- Given the sime of the angle to find the angle, use the scales A and S5 in thereverse
#1°. To find the sine or tangent of angle from 34" 1o 5°34°. set the hairline over the order. Thus. locate the numerical valus of the sine on the A scale, and read off the
angle on the S scale. under the hawline read the answer on “A-Left”.  The answer angle in register on the S scale
THE TANGENT SCALE.T. The scale is used with the D and T scales. The The range of the value of the answer will be between 0.1 and 1.0 X
! of angles 544" and 45" can be founded by using the T scale in con- Angles greater than 45°: Since Tan A = Cot (90°-A) and Tan A = 1/CotA, if tan-
junction with the D scale To find the Tangent for arl angle greater than 45° the T gent of an angle greater than 45°is required, subtract |he_angle from 90" and find Co-
scale is used with the C| scale. and the following hip must be d tangent of the remainder. Since the Cotangent is the reciprocal of !ha}_’ansent, and
Ry R i since the Cl scale is a reciprocal scale, value of Tangent can beread directly on the
Tengent A = Cofangent (50°-A)  Cotangent A = ==op g Cl scale when the rule is closed, ie, the indices of the C and D scale are in align-
Angles less than 45" : To find the Tangent of an angle from 5°44° to 45°, set the ment. The range of the value of the answer will be between 1.0 and 10.0
hairfine over the angle on the T scale, under hairline read the answer onthe D scale.
LOGARITHM OF A NUMBER. The L scale (a scale o equal parts) permits the between the decimal pont and the first sigmificant figure of the given number.
reading of the logarithm (mantissa' af numbers on the D scale, Set thzhairline over Ta find the number corresponding 10 @ given common logarithm @ — If the ‘Charac-
the number on the O scale and read the logarithms (mantissal under the hairline on teristic 15 positive, the number of figures before the decimal point is one more "uu
the L scale. To find the common logarithm if a given number If the number is the number of units in the ‘Characteristic”. If the ‘Characteristic” is negative,
© Rreater than 1, the “Charactenstic™ of the logarihm is one unit jess than the number nlmbar of feros’ between the decimal pont and the firsEgignmicant Tigure 1% mﬁss
of figures to the left of the decimal point. If the number is less than 1. the 'Cha- than the number of units in the °Characteristic”
racteristic” of the logarithm is negative and one wmit more than the number of zeros e
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